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The speed of transverse waves on a spring is 15 my/s. If the source groduces a disturbance ex\iri
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2. Ifawave gene rator produces 10 meter- long waves eyery 4 iﬁmﬁs, calculate the wave sEeed - 3 w.
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3. The violin ‘A’ strmg (440 Hz) has a length of 30 cm.” ATW Beeaeroes the fundamegtal l‘\ 2,)
frequency travel along the string? 0
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4. A trumpet is an open tube with a length of 150 cm. Calculate the lowest note (

frequency) that it cag play. Assume v =340 m/s. v - ) M/
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5. What is a standing wave? How is it formed? Tl‘
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8. A rope, fixed at both ends, is vibrated by a machine at W(sunﬂar to the clas

demo). If the rope is placed under more tension, what m!! happen to avelen?h” «Why?
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danger of allowing the mlcrmi’aves to %ecome stan: 3:1 waves? How is this pr nt d2
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